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QUESTION 1

Which service is responsible for generating an HTML page?
A. Job service

B. Report service

C. Delivery service

D. Content Manager service

Correct Answer: B

QUESTION 2

The Report Upgrade task in IBM Cognos Connection provides options for upgrading report specifications. Which of the
following is one option?

A. By folder

B. By role

C. By group

D. By user profile

Correct Answer: A

QUESTION 3

What permission is needed to view and change the permissions of a IBM Cognos Bl object?
A. Read

B. Set Policy

C. Traverse

D. Execute

Correct Answer: B

QUESTION 4

What is a recommendation for tuning during high interaction request processing?

C2090-622 PDF Dumps | C2090-622 Practice Test | C2090-622 Study Guide 2/5


https://www.pass4itsure.com/c2090-622.html
https://www.pass4itsure.com/c2090-622.html
https://www.pass4itsure.com/c2090-622.html

VCE & PDF https://www.pass4itsure.com/c2090-622.html|
a 2024 Latest passditsure C2090-622 PDF and VCE dumps Download
== / PassditSure.com

A. Set thenumber of jobs lower during peak hours.

B. Set the number of jobs higher during peak hours.
C. Increase the processing capacity on the dispatcher.
D. Increase the peak period hours.

Correct Answer: A

QUESTION 5

From within IBM Cognos Connection, what mustan administrator deploy to move an entire IBM Cognos Bl application
into a new and empty environment?

A. Content store

B. All folders within Public Folders
C. Notification store

D. Content manager

Correct Answer: A

QUESTION 6

An administrator has set up drill-through access in a package to run the target Query Studio report. By default, what
happens when a user clicks the drill-through link?

A. The report runs in IBM Cognos Viewer.

B. The most recent report output is shown.

C. The report runs and opens for editing in Query Studio.
D. The user is prompted to run or edit the report.

Correct Answer: C

QUESTION 7
When the default active Content Manager fails, which of the following occurs?

A. The system automatically activates all standby Content Managers, and spreads the load of requests based onthe
Weighted Round Robin load balancing mode.

B. The system automatically activates all standby Content Managers and spreads the load of requests across them all.

C. The system automatically switches to a standby Content Manager, and requests are directedto it.
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D. Users are prompted to rerun failed requests on the initial Content Manager once it is back on line.
Correct Answer: C

There are 2 load balanced report servers.

The dispatcher on Computer X has the following characteristics:

FAM: 1024 MB
CPLU: Dual P4 1.5 Ghz
Hard drive: 80 GB

The dispatcher on Computer ¥ has the following characterisics:

RAM 2045 VB
CPU: Dual P4 28 Ghz
Hard drive; 80 GE

What would an administrator set the processing capacity on Computer Yto?
Al

B.2

QUESTION 8

An administrator wants to show the folder hierarchy of IBM Cognos Connection in a portlet. Which portlet must the
administrator use?

A. IBM Cognos Viewer

B. IBM Cognos Search

C. IBM Cognos Navigator

D. IBM Cognos Extended Applications

Correct Answer: C

QUESTION 9

What can an administrator create to ensure that multiple users do not have to enter database credentials when they run
reports?

A. Signon
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B. Single signon
C. Collation sequence
D. Connection sequence

Correct Answer: A

QUESTION 10

Which system metric for the Report Service would the administrator set as having a performance pattern of "Low values
are good"?

A. Queue length high watermark

B. Percentage of successful requests
C. Number of successful requests

D. Successful requests perminute

Correct Answer: A
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